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import sys

sys.path.append("statlib")

from xtest import Brunner_Munzel_test

Brunner_Munzel_test(x, y, alternative="two_sided", conflevel=0.95, verbose=True)
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3 (MBI

import sys
sys.path.append("statlib")
from xtest import Brunner_Munzel_test

X = [ ’ 2; 1; ’ ’ ’ 1! ’ 1’ 1; 2; 41 1; 1]
y_ ’ ’ 4! 3! ’ 2! 3! 11 1’ 5! 4]
i B E

a = Brunner_Munzel_test(x, y)

Brunner-Munzel Test

t = -3.1375, df = 17.683, p value = 0.00579
alternative hypothesis: true p is not equal to 0.5
95 percent confidence interval: [0.59522, 0.98271]
sample estimate P(X<Y)+0.5*P(X=Y): 0.78896

A HIEE (alternative="greater")

b = Brunner_Munzel_test(x, y, alternative="greater")

Brunner-Munzel Test

t = -3.1375, df = 17.683, p value = 0.99711
alternative hypothesis: true p is greater than 0.5
95 percent confidence interval: [0, 0.94882]
sample estimate P(X<Y)+0.5*P(X=Y): 0.78896

FlkeE (alternative="less")

c = Brunner_Munzel_test(x, y, alternative="less")

Brunner-Munzel Test

t = -3.1375, df = 17.683, p value = 0.00289
alternative hypothesis: true p is less than 0.5
95 percent confidence interval: [0.6291, 1]
sample estimate PX<Y)+0.5*P(X=Y): 0.78896

FHDTF =4 DaTOMD, DT —7DETOMEE /NS (FREFREV) v X9 BRRAGS
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X = []-l l, 1! 1! ’ ’ ’ ]-! ’ 1! 1! ]-1 1! 1! ]-7 ’ ’ ’ ’ ]-l 1! 1!
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i, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1]

y = [4, 2, 4, 2, 2, 2, 3, 3, , , , 3, 3, , 4, 3, , , , 4, 2, ,
3, 2, 4, 3, 2, 2, 3, 2,5, 2, 2, 4, 4, 2, 3, 2, 3, 3, 3, 4, 5, 3,
2, 2, 2, 4, 3, 5, 3, 4, 3]

d = Brunner_Munzel_test(x, y)

Brunner-Munzel Test

t = inf, df = inf, p value < 0.0001

alternative hypothesis: true p is not equal to 0.5
95 percent confidence interval: [1, 1]

sample estimate PX<Y)+0.5*P(X=Y): 1

4 BE{ED Python B3 & DLHLEL

4.1 scipy.stats.brunnermunzel ()

from scipy.stats import brunnermunzel
x=1[1,2,1,1,1,1,1,1,1,1,2,4,1,1]

y = [3,3,4,3,1,2,3,1,1,5,4]

w, p_value = brunnermunzel (x, y)

W

3.1374674823029505

p_value

0.005786208666151538

—HOBDETOMED, I —HOBOETHMELHKE W (ME W) HEIKE, ELWHEZ LR,
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import numpy as np

X = np.array([1,2,3,4,5])
y = x+10

brunnermunzel (x, y)

/Library/Frameworks/Python. framework/Versions/3.8/1ib/python3.8/site-packages/scipy/stats/stats
wbhfn /= (nx + ny) * np.sqrt(nx * Sx + ny * Sy)

/Library/Frameworks/Python. framework/Versions/3.8/1ib/python3.8/site-packages/scipy/stats/stats
df = df_numer / df_denom

BrunnerMunzelResult(statistic=inf, pvalue=nan)

brunnermunzel (y, x)

/Library/Frameworks/Python. framework/Versions/3.8/1ib/python3.8/site-packages/scipy/stats/stats
wbhfn /= (nx + ny) * np.sqrt(nx * Sx + ny * Sy)

/Library/Frameworks/Python. framework/Versions/3.8/1ib/python3.8/site-packages/scipy/stats/stats
df = df_numer / df_denom



BrunnerMunzelResult(statistic=-inf, pvalue=nan)



